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. Direction: In

1. Statement : The vehicular traffic

has increased so much in the
recent past that it takes at least
two hours to travel between the city
and the airport during peak hours.

Course of action :

I.  Non-airport bound vehicles
should not be allowed to ply on
the road connecting the city
and the airport. '

II. The load of vehicular traffic
should be diverted through
various link roads during peak
hours.

IIl. The departure and arrival of
flights should be regulated so
as to avoid congestion during
peak hours.

(A) None follows

(B) Only 1 follows

(C) Only II and III follow

(D) Only I and III follow

each question
below is given a statement followed
by two assumptions numbered I and
II. Consider the statement and
decide which of the given
assumptions is implicit.

Statement : A statement in the.

call letter given to candidates of the
written examination states — “you
have to bear the travel expenses for
attending the written examination”
Assumption I : If not clarified all
the candidates may claim
reimbursement.

Assumption II : Many organizations
reimburse the expenses on travel
to the candidates appearing for
written examination.

(A) Only Assumption I is implicit

(B) Only Assumption II is implicit
(C) Either Assumption I or

Assumption II is implicit

(D) Both Assumption I
Assumption II are implicit

and

71,

KI.

W I1.

J

/id/se’ﬂel@ QIIge ggeIgs

2.

J

AaQm &I I AL
g

HB) 609R UIQEI I AGEAS,

Q3 : 6e QIRAITIe ! FRIOR 969 GO
9% Qe QIPIQIAI 6EF ANAER TR
Joineag doig ga a8 A0a AIS!
AL RITYFA :
NAIRCAIT] QIRegel SIFAIeT

QA2Q 99° INIREAIT QUYIER AGAT
QuIgel 2goe|

ARG QAIFRILIGG FLF AAAER
Q@R 9@ @@l (link road) 6Q divert
RACLQ Q5|

M. QIGIER @¢ AR FAIRR
21998 6 ggie @ 7938 K9S 2%e|

(B) 6997 I gg&Y
(C) 699 II 9&° III ggey
(D) 699 I 99° III 9N

60 : ITRYS Y6 gFea 6alIdg
Qg 28 ¥9° 9% U4l (assumption)
I 9e° I QAIQIREI @@F agy 9e°
QAIAINYL! UIQE 6RQT 2Ag6A
(implicit) @91 RAGI

@@ : 90IE1g AYe AIVNER QAR
€QIGN IS G (call letter) AT,
“RYS ANYI 6QRIAIN 2GS TGS
QLR RAQUY AL '

AIQEN I : 92 921 Y I @ AN, GIELEN
a7g 98aIg1 9g9F Q191 @ aIE|
AUIQSI II : AR A°Ql VYS AAVIQ
QBT GgeIs Q2R KTl

(C) §QEN I T UQEN IT 2Q6A1E,
(D) IR I 8 Q6N II 2Ag6Ag)

|
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3. What dqes the SOLER model in
commumcation stand for?

(A) Sincere, Open, Listening, Eye
contact, Relaxed

(B) Sit SQuarely, Open posture,
Lean towards the speaker, Eye
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

(D) Synchronized, Open, Listening,
Eye contact, Reassured

Direction (Q. Nos. 4-8) : In the following
fi_gg_l;e_l rectangle, square, circle and
triangle répresent the regions of heat,
gram, maize and rice cultivation
respectively. Based on the figure, answer
the following questions :

K4 8l 2
5 7|9
wwesX 6|10

0)@0\% 11

4. Which»arge_g_isclﬂﬁ’_?&e_d_hy rice

@A) 5
( 1
(©) 2
(D) 11

5. Which area is cultivated by maize
only?

(A) 10
(B)

(cf 3
(D) 4

| 2I006Rg, 966G, 98 8 GeW; 929, |1,

3. €4I6I6QI96Q SOLER @I8! (model)
690 QIR UGG 7

(A) Sincere, Open, Listening, Eye
- contact, Relaxed

(B) Sit squarely, Open posture,
Lean towards the speaker, Eye
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

(D) Synchronized, Open, Listening,
Eye contact, Reassured

F6RaRIA (QGISR1 4-8) : RGeS Te,

AR 9Q° IR SIT6AE] QY FEQ] 1T 9
2ARIFRA FOIRYe g9e aa 2!

4 /Bl 2
5 /7 9
6 |10

4. 629 69G6Q 6RQR UG Q1T 4?

(A) 5
(B) 1
(C) 2

(D) 11

5. 6R2 69Q6R 6R9R ARl I8 §9°7
(A) 10
(B) 2
(C) 3
(D) 4
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6.

8.

9.

10.

Which area is cultivated by rice and
maize and nothing else?

(A) 9
(B) 8

9/2

(D) 7

'/}Jhlch area is cultivated by all four
c

ommodities?

A) 8

(B

(C) 9

(D) 2

Which area is cultivated by wheat
and maize only?

(A) 8

(B) 6

(C) 5

(/D/

Which of the following is not a
database object in MS Access?

(A) Reports

(B) Tables

(C) Relationships
(D) Queries

Which one of the following

represents the binary equivalent of
the decimal number 23?

(A) 01011
(B) 10111
(C) 10011
(D) None of the above

6. 699 cNGea dIF ¥e° ARl 018 449

10.

. 689 EAQER 6RQM FLe YQ° (1R QIFY

. MS Access 6Q 769Ig FQ 6090

AGE QI8 94 AR 7
(4) 9
(B) 8
©) 2
(D) 7

609 6Tg6R Y@ 91G6WIR AR Q19
Q9?7
(A) 8
(B) 7
(€) 9
(D) 2

2947
(A) 8
(B) 6
©) 5
(D) 4

695N database ohject- @_GQ‘?

(A) @sQIgQ

(B) ee'emq

(C) QsMARTQ

(D) QIAR (Queries)

FeAIQ AQ 6RQS 603AIN 89a 23
ARNEAQ RYRENIQ YOG 96Q1?
(A) 01011

(B) 10111
(C) 10011

(D) Y&Q 6MaFE Q62
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[11. In which year w

as Educational TV

first introduceqd in India?

(A) 1961 -
(B) 1959
(C) 1971

(D) 1968

@ Which is the largest storage unlt
among the following? ,

(A) Terabyte

(B) Megabyte

(C) Kilobyte

(D) Gigabyte

13. An area is affected by severe
flooding. You, as a District
Magistrate, have limited resources.
Which of the following should be
your immediate priority?

(A) Repairing roads
(B) Distributing food and water

(C) Rebuilding houses

(D) Organizing entertainment to lift
people’s spirits

11. 696 AA2I6H AAGEA FAIRR LOER
(Educational TV) 2IQ@ 628U ?

(A) 1961
(B) 1959
(C) 1971

(D) 1968

12. Q6919 AU6Q 69T METY 6FI6AR
" (largest storage) 26%'?

(A) 69QURARG (Tefabyte)
(B) 69191QIQC (Megabyte)
(C) QERIQIAG (Kilobyte)

(D) QLIRS (Gigabyte)

13. QAEQ QY QI 66159 8% 9RIRE
62Ing| 6'661 | BRI AIREEE QIF6R AIAES

QI6a QIFe ARe GoRg! gER AUg
6969 21099 Q86 glafies! 6297

(A) AP AAUNG .
¢ (By-9TaY 6 Q15 999
(C) g2 ges @dig

(D) 6RISE A6RINIS AR AIQ
A6RIFER AR AR ACAFS

-
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Direction (Q. Nos. 14-18) : The bar graph
given below shows the sales of books (in
thousand numbers) from six branches B1
to B6 of a publishing company during two
consecutive years 2000 and 2001.

120 7
110
100+
90 4
30 -
70
60 -
50 4
40
30 -

Sales (in thousand numbers)

B4 BS B6
EB2000 #2001

B3

Branches

B2

14. Total sales of branch B6 for both
the years are what percent of the
total sales of branch B3 for both the

Gedael (g QS 14-18) : 2000 4° 2001
A3Icq 69163 Y@ gRIFe A°gIa @7 BR 69
8Il B1 @ B6 60 @gd 6298<! 9g@ (1000
QLHIR)SIQ, G (bar graph) 6@ @4lIQIRE]

120
110
100 -

105
10

Sales (in thousand numbers)

BS
E2000 #2001

Bl B2 B3 B4 B6

Branches

14. Q09 996Q 4IS B6 A6 @8a 4Isl
B3 6Q A967IC IQAQ 6860 g ?

years?
. (A) 68:54%
(A) 68-:54%
(B) 71-11%
(B) 71-11%
(C) 73:17%
(C) 73:17%
(D) 75-55%
(D) 75-55% oo T
15, What percent of tl venans sales 15. 2000 ?\@GQ |lsil 331, B3 Q° B6 @4
of branchesf| an in 2001 LUALIQ 2001 QIEQ €IS B1, B2 9Q°
is the average sales of branches B1, B3 8Q9Q 666 95967
B{a_géﬁﬁ in 2000? *\\/0
o5, 5.7
(A) 75% }/(/” (A) 75%
S
(B) 77-5% Q ® (B) 77-5%
O
59 e p C) 82-5% a¥3 !
(C) 82:5% . % 0\.5‘ (C) () y 0%
L Ty |
(D) 87:5% /lso\g w% P (D) 87-:5% w
/151-C Oxw ‘ /Q/ 6 C‘}'W S ol
4 SEC NP > AY
o™ 7 Tars 3




16. 2000 e aIa QAag 4IdIQ (1000
Q°GNIER) AR} QA 6REC 7

(A) 73
(B) 80
(C) 83

(D) 88

17. €Il B1, B3 4¢° B5 I9E 60 Q7919

9g9 gAY @9 Qdale 6866 (1000
- QA°HY) 6QARYMI?

(A) 250 430 29
(B) 310
(C) 435

(D) 560

18. 666 Qe AMAIG Yge Qe SIG

B2 62 Q@0 9969 621gm QAILIF
ARELC TR SIS B4 6Q Q00 996Q
62IR2MI| '

(A) 2:
(B) 3:
(C) 4:

(D) 7 :

/151-C

: rage sales of all the
branches (i sand numbers) for
the year,2000? « JX

— (SR
X
Wg&oz\g- Sty
(s T Y
(C) 83 /\ﬂ%@
(D) 88
@Total sales of branches B1, B3 and
B5 together for-both the yea (in
thousand numbers) are
0 -¢10C
&) 250 =)
A G+l —20°
(B) 310
YCAAS =0
0
-(C) 435 1856206 1Y
(D) 560 _—%

@ What is the ratio of the total sales
of brancK(B2)for both years to the
total sales of bran fQT_,b—Oth

ears? ' &
TS gf 19 ¢ 2
(A) 2:3 . j% S
(B) 3:5
(C) 4:5
> 7:9
e
7
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A
@

20.

21.

The sum of the digits of a two-digit
number is 9. If the number formed
by reversing the digits is 9 less than
the original number, what is the
original number?

(A) 27
(B) 45
(C) 63

(D) None of the above

A man spends 30% of his salary on
rent and 20% on food. If he has
$ 2,500 left after these expenses,
what is his total salary?

(A) $ 4,500
(B) $ 5,000
(C) $ 3,500

(D) $ 3,000

In a sequence of numbers, each
number is the sum of the previous
two numbers. If the first two
numbers are 2 and 3, what is the
6th number in the sequence?

(A) 21
(B) 18
(C) 13

(D) 12

19.

20.

©(A) $4,500

21.

QR g% 8 A AA] 9, AT Y
GRSIR A0S ;A @ A°SHYI0IQ 9 @9
606@ @ A°GHil 6RERT?
(A) 27
(B) 45

(C) 63

(D) 9elq 6R1€dE g6

@68 @, FIF @A 30% WARG G
20% G19Y6Q QYQ @8l 98 oIFq
$ 2,500 QUG UG T6Q IRUEY 606Q
ASEAIT QR 66 ?

(B) $ 5,000
(C) $ 3,500

(D) $ 3,000

APHIPER RA6Q ARR, YRR QA°HI
9< 9R0oQ AAd| AT gae gas QeI 2
NQ° 3 29 6669 K6 &Rl 6th A°EYIT
6R63 ?
(A) 21
(B) 18

(C) 13

(D) 12
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[22.

23.

24.

R N —

A water tank hgags
and one outlet pj i

.. €l pipe. The inlet pipes
can fill the tank in"4 hours' aIID‘ICI; 6
hours, réspectively. The outlet pipe
can empty the tank in 8 hours. If
all three pipes are opened

simultaneously, how long will it
take to fill the tank? =

two inlet pipes

(A) 3 hours
(B) 4 hours
(C) 5 hours

(D) 6 hours

A sum of X 10,000 is divided into two
parts such that one part is invested
at 8% per annum and the other at
6% per annum. If the annual
interest earned  from, both
investments is ¥ 700, what is the
amount invested at 8%?

(A) ?4,600

(B) 3,000
(C) ¥ 5,000

iB] ¥a,000° ==

250%
5%

=7

(A) 50%
(B) 500%

(C) 5000%

22.

23.

24.

6915 QISSIREq 9R% AgEmS, (inlet)
QIR 8 6615 ZIRGEMS! (outlet) AIRY
RITE| AREAE AIRY AIRIFER QIREE
4 Q91 ¥9° 6 Q416 FIRT @d g9
2IQ96ME (outlet) ARG 8 ULI6Q

. PIR0Q HIR AAEN| 9@ B6RIG IR AIRd

YQRI696% 6HIMFAILII 6069 6Q6Q
QAFN6A FIRG @ 6297

(A) 3 Q4
(B) 4 Q4
(C) 5 QS

(D) 6 Q&

QAG6LIS T 10,000 90 NUFER TG 621
gaa A9 Q8@ 8% W9 ARG AT
6% QU6 RAIKIRE] T QUG VIR
QAqQIa Q18R Q&I T 700 §9 6969 6R6E
ORI 8% Qo 2NRER RAAIRIYMI?

(A) 4,000
(B) % 3,000
(C) 5,000
(D) 6,000

250% _.,
5% -

(A) 50%
(B) 500%
(C) 5000%

(D) 5%

/151-C
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25.

26.

27.

28.

29.

The sum of squares of two numbers
is 146. If the square of their
difference is 36, then the product
of both the numbers is

(A) 72

(B) 160

(C) 55

(D) 16

A peon purchased a chair for ¥ 700,
spent X 170 on its repair and ¥ 30

on the cartage. If he sold the chair
for ¥ 1,080, his gain percent is

(A) 10
(B) 20
(C) 30
(D) 54-29

Find the next number in the

sequence
17, 17, 51, 255, 1785
(A) 16065
(B) 19635
(C) 15965
(D) 14955

3 ‘
A can do 2 of a work in 12 days.

He can complete % th of the work
in

(A) 3 days

(B) 4 days

(C) 72 days

(D) 2 days

Sonia can copy 50 pages in 10
hours. Priya and Sonia can copy 300

pages in 40 hours. Priya can copy
30 pages in

25. QRE QG QUTRQ ANT €28 146

26.

27.

28.

29,

98 6Q7IeTQ GeeIa YT 36 29

Gre26M ARG AN AYIF 629
A) 72

(B) 160

(C) 55

(D) 16

691G Jae 6Q1@%9 T700 RéaI,
AAUAE RIFIER T 170 €9 2R B RCOR
(cartage) €I T30 9% @RIl 9@ 69
691G T 1,080 69 Y@@, ¢I'A AN
Q19 68607

(A) 10

(B) 20

(C) 30

(D) 54-29

RO ALY A°HYI LI *Q
17, 17, 51, 255, 1785

(A) 16065 -

(B) 19635

(C) 15965

(D) 14955

— 3 o
A 12 @@ 2 @Il @QAIEQA 64 RIAQ

% QUG A FAQ AR 696Q 9 AT ?
(A) 3 QRea

(B) 4 Q6@

(C) 72 Qx6a

(D) 2 @6

6172l 50 9] 10 A916Q *d *QQISl
del 8 eaifal 40 99I6Q 300 gF 9d

@8 a1 gl 30 Q]I 6R6C AAAER
@d @Q QIRe?

(A) 10 hours (A) 10 QKI6Q
(B) 11 hours (B) 11 4916
(C) 12 hours (C) 12 Q4I6Q
(] A8 b (D) 13 99169
/151-C 10




[30. The Probability of

31.

32.

33.

. getting a bad e
in a lot of 400 €ggs is 0:035. Tlglg
number of bag €ggs in the lot is

(A) 7
(B) 14
(C) 21
(D) 28

Arrange in order, from least to
greatest :

8 .3 _19

5" 2’ 11

(A) —8<—-3- gl
57 2° 11

19 3 8

B) ——2<-2._8
B ~11<72°73
c -2_..8__3
11 5. 2
D)~ o2 . 8
2° 115

A chemist has one solution which
is 50% acid and a second which is
25% acid. How much of each should
be mixed to make 10 litres of a 40%
acid solution?

(A) 4 litres of 50% and 6 litres of
25%

(B) 3 litres of 50% and 7 litres of
25%

(C) 6 litres of 50% and 4 litres of
25%

(D) 7 litres of 50% and 3 litres of
25%

If the number K35624 is divisible
by 11, then what is the value of K?

(A) 2
(B) 5
(C) 7
(D) 6

30. 400 28| @dq MF6Q Sald AL

31.

32.

33.

QIR YRR 62Q8 0-035| MG 6Q
QI QI A°HY 6RAY

(A) 7
(B) 14
(C) 21
(D) 28
6816Q Q¢ Q69 ARG
8 =2 1
5° 27 11
8 3 19
W —g<3< 11
8
® -;3<-3<g
QZQ<_§<_§ 22
11 5 2 /4
D) ~Sx<gs
2 11 S

69T QIAARTQN 64T APYAR, 8B
6090 50% 436 6 QBIAT 6Q90 25%
3@ 28| geoiaq 6@6e fgd adem
40% 3Q APIARA 10 RAGQ TR 621N
qA8_?

(A) 50% Q 4 ATQ G 25% Q 6 AR
(B) 50% Q 3 AFQ B 25% Q 7 AR
(C) 50% Q 6 AT B 25% Q 4 KR

(D) 50% Q 7 A6Q 6 25% Q 3 RS

Q6. Qa°§ul K35624, 11 QIal d0Iee
6219I60; GITIE2ER K @ RY 69687
(A) 2
(B) 5
(&I
(D) 6
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Direction (Q. Nos. 34-36) : Study the bar
chart and answer the questions based
on it.

Production of crops (in 1000 tonnes) over
the years.

;&90 "
5 80 ﬁ%—
©. 7 0 1
£ o s 5 _Hdb
g % ZCRZRZ
8 50 w 4 B g
- = RZZRZRZ
g 40 SRZAZRZNZ
< - ”’
20 ZRZRZRZ
A =
BEEEELVLL:
S S8 88 ¢z ¢
NNNNNNNN
Years
34.

‘What was the p
in the production™ofcfops in 2012

increase
compared to that in 2005?

year 20Q1_1o__2’0_FO8?
A) 34%
J I
X ~(0) 21% 4,3//4‘\ G
(D) 40% /6/\

production of which of the followin
pairs of years?

(A) 2010 and 2011
(B) 2009 and 2010
(C) 2008 and 2010

)

F/WVO\
A
L at

| K/

@2005 and 2011

(A) 180 IS INUN

(B) 200 &

(¢ 220 A \{7* /}’)/ﬂ
(D) 250 ﬂ5 '

@.\\Khat was the percentag@
in\ the production of crops from the

36. e average production of the crops |
QL) in the year 2006 _and 2007 was

exactly equal to the average

9

F6EaR! (g4 QI 34-36) : FIAVITYRR 69,
J4999a 20 gIIe 9al

Qd@In 694 *QILS (1000 67)

8 90 1 (=]
§ 80q L2
5 7oy -z

é 601' Z 7o) ; 8 ;

9 507 e M = 4 m KA

=} I <+ / L] ’ /

'g 40'_ ’ A 5 ’ ;

& 30| 8 1S 1 4 P
weSZRCRZRZRZ RN
NIZEZEZAZAZEZAZ0Z
"2 g5 g2 g 5 o

§ 88888 8 §
' Years —>

34. 2005 032 RAIER 2012 AJLIER 6R6S
' gB4Ie 994 QQIPFA R QF AIRT?
(A) 180
(B) 200
(C) 220
(D) 250

35. 2007 Q@ 2008 F1JLIER 6R6S YEIS 9y
QYR 2 A AIRT?

(A) 34%
(B) 25%
(C) 21%
(D) 40%
36. 2006 99° 2007 AJRIEQ LIAULIR QY

QQIGE PORYC 699 9a eFa AR
Qe VG AAIR I 4 ?

(A) 2010 9Q® 2011
(B) 2009 9Q° 2010
(C) 2008 41Q° 2010

(D) 2005 \9e° 2011

L/Q .
u{“[‘(} /181-C /
<

)

%
o /
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Direction (Q. Nos. 37 & 38) : In the light

of d.ata sufficiency, choose the appropriate
option from the following :

37. The last Sunday of July, 2018 fell
on which date?

Statements :

() The first Sunday of that month

fell on Sth.

(i) The last day of that month was

Friday.
(A) Stgtement (i) alone is sufficient
while Statement (ii) alone is not
sufficient -

(B) Statement (i) alone is sufficient
while Statement (i) alone is not

sufficient

Either Statement (i)
Statement (i) is sufficient

(C) or

(D) Neither Statement (i) nor

Statement (i) is sufficient

38. Mr. X ranks eighteenth from the top

in a class. What is his rank from
the last?

Statements :
(i) There are 47 students in the
class.

Mr. Y who ranks 10th in the
same class, ranks 38th from

the last.

Statement (i) alone is sufficient
while Statement (i) alone is not
sufficient .

(i)

(A)

Statement (i) alone is suﬂ.'lcient
while Statement (i) alone is not

sufficient

(B)

Either Statement (i) or

C .
e Statement (i) is sufﬁmept

Neither Statement (i) nor

D .
) Statement (ii) is sufficient

eTaR! (g§ QI 37 & 38) : G4 URIAEQA
A0@ 28Q geIe !l

37. 2018 A1d2l gAIA 1A 69% QR
6R68 GIAY cRIRAMI?

ey :

(i) 648 Q1] gelea R[UQ &AM 5 @@gﬂ

i) éqé I2a 68899 4899 gqll
(A) 98 ()T Q62 @g ABY (i) 6L
(B) AIBQY (i) & Q68Iq AF SN () 26¢
(C) ABY (i) @A AV (1) A6

(D) QIBQY (i) @A ABN (i) DAY Q6L

38. {9Q X QI 6§416Q 9aF &G 18 IFER

2ege| 689 g Pl QY EXR6L 697
12N

(i) 69816Q 47 98 818 SIS1

AqQ Y 69 6@ 6§41 10th
QITER I° 649 2IQ 38th QIWI

@

(A) Q88Y ()T Q0 @] AV (i) 6L

(B) 91894 (ii) & Q0K @ A8 (i) Q6L
(C) A18Y (i) @A AN (i) A0

(D) 1994 () JAI A8 (i) A0R Q6L

/151-C
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39. In the following Bar diagram, the
proportion of expenditure spent on
the several things by two persons
X and Y are shown :

10%
50% Food & Clothing|
Food &
Clothing
60%
30% Miscellaneous
Miscellaneous
20% 30%
1 Education Education
Person X’ Person Y’
¢ Total expenditure : Total expenditure :

Ceedeml

39. FQMYLe Bar diagram’ 6Q X 9Q° Y
IR AT R NPQ AQAIS QARG

10%
50% Food & Clothing
Food &
Clothing
60%
Miscellaneous
30%
Miscellaneous
20% 30%
Education Education
NG X N Y
AR §IF QYU S
T 20,000 QId@ ¥ 1,00,000 Qude

¥ 20,000 per month % 1,00,000 per month

From the above Bar diagram, which
of the following statements is
correct?

(A) Person X spent more money on
food and clothing than person
X,

(B) Person X spent less money on
food and clothing than person
Y.

(C) Person X and person Y spent
the same amount on food and
clothing.

(D) The amount of expenditure on
food and clothing by person X
and person Y cannot be
compared.

QU6Q Q@41QI1ReY Q| ‘Bar diagram’
ZRINAEA 69Q N12Ye A0 I8 sad |

(A) X 4G 9IQY B 6QAIVNER Y 4§
26T AR OF MY RS8R

(B) X QU@ ©IQY G €QIVINEQ.Y Q4G
2R QF| O MY RABT

(C) X QU@ 99° Y Y@ Q@ie QA9 o
Y B AININER MY FARD

(D) X QY8 6 Y I8« QIQI ey G
CUITIRAIR QRS WS QRel Qal
AR ARG
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Direction (Q. Nos. 40 & 41) : Study the

follovs.iing pie chart and answer the
questions:

The II}Ont.hLly expenditure (in percent) of
a family is represented by the given pie

chart. Let the total monthiy income oD

the family b_ 33,650, then

feaan (g4 LYYl 40 & 41) : AR OI' (pie
chart) § 2ORAG @8 g99Fea @@ g9
@al

6aIcN adqia AIde @@ (22IQ) AR 919
(pie chart) 63 @4lAIAR| G AIAR 2
Q6T T 33,650 g9 66697

oA
(+]
ﬁ"\c,\’qﬂbﬂ)o
Savings “7 Savings
Food and
Food and 2 _ 12% clothing
Medical clothing & Medical 25%
fﬁ%%# A7 13%
[
1Y 23% 18%
. €S Child House
E dChlld ~I-‘ié)_uie_ ;ﬁ Education 9% Rent
ucation =t O
L 2({0\ > 0{: 5 Entertainment
Entertainment b and others
@;%é* )/'(6 q and others /%6’
o/

40. After payment of house rent and | 40. 99 @Yl QQIGI ¢ Qe 9@@ Ol S6AId
deduct_igns__of_mon.th_l)Lﬁp_@g_S_,_the CERIYER JAQNAR IR Al Ul
total monthly income of the family €667 )
r?_m/ai.gi éw \,\é—-
(A) 23,545 X & ';7 (A) ¥23,545 }{\;@“lg /ro}t

’ K /
(B) 23,555 7;0 e x (B) ¥23,555
A3
(C) T29,471 6609 (C) 229,471 G Y
’ Y. 092 o
" 0267 &5 2\
(D) ¥28,350 95,6 (D) ¥28,350 =
41. The amount of annual savings 41. Q1§% 98 0! 69667 &”
would be Y 3
< L, LS |
AN (A) ¥48,310 Dk
() T48310 T o
A (B) T 48,456
(B) T 48,456 G .
(C) 251,393 ke Tad.95a
(D) 250,284 (D) $50,284
P.T.O.
/151-C 18 [P.T.0




Direction (Q. Nos. 42 & 43) : Answer the
questions based on the following table
which shows the results of half yearly
and annual examinations of four sections
A, B, C, D of Class-V students in a school.

Result No. of Students
Section Section Section Section

Student A B Cc D

failed in

both Exams 28 23 17 27

Students failed

in half-yearly

but passed in

Annual Exams 14 12 8 13

Students passed

in half-yearly

but failed in

Annual Exams 6 17 9 15

Students passed

in both Exams 55 46 76

64

42. Which section has the maximum

success rate in Aannual
exarmination?

] r“‘_‘(A.) S(:ctlon A
(B) Sectioﬁ B
(C) Section C
(D)’ Settion D

43. How many students are there in
Class—V of the school?
Ass—V ol the schpol

(A) 386
(B) 219
(C) 399

(D) 430

TRITR SQuidiee oSl

' QU6gEN QTG QUECHS QACYEN
TR A B C D
QeD A6
6TR 621N
quie..- 28 23 17 27
IR AQIVNER
cam @g «18e
aQigiea aig
QoS Fquigh 14 12 8 13
FgIdeca aiId
Q8@ aNNIEa s
TR 6 17 9 15
Qe AIIER
A} @@E_r -
Qqudl - 64 -55 76

Jedanl (gg a°o¥1 42 & 43) : FINYe
6egMEa Q4IRS 6RET Y@ FMILAQ
6géll-v SQuIgIAIREQ A, B, C, D QI6QIT
Qgegaia A1gide 6 QAfe ANV TRTR
Qa4 21IA6a 94 e dagl

46
42. 629 QU-6g41Q AR ATRG AT
dQINEQ CLIAT ?
(A) @cegena
(B)edsgetB
(é) Q’@e«gm-c-'-- Froe: e
(D) 296841 D

AUIRAR V- 69416Q aQyidie oy
6692,
(A) 386
(B) 219
(C) 399
(D) 430

43.

/151-C
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Direction (Q. Nos. 44-53) : Read the
following Passage and answer the
questions that follow. Your answers to

these questions should be based on the
passage only :

Everyone is fascinated by identical twins :
tl'.le.y lo'ok t?e same - even advanced
digital imaging systems sometimes fail
to tell them apart - and yet they have
different personalities and abilities.
Literature and detective stories depend
upon them for providing a plot twist or a
mystery. In reality, too, there have been
numerous cases of one *twin
impersonating the other for a joke,'to
escape punishment or to advance a
romantic interest. They may have -the
same eyes, the same hair colour;"'the
same smile, but one will be shy and the
other more outgojng, or one cleverer or
funnier or kinder than the other and this
despite their having the same DNA. They
do not, however, have the same
fingerprints, which are believed to be
determined by environmental factors,
twins like spending time with each other
- often to the exclusion of others. In fifty
percent of cases, they even develgp their
own secret language, furthermore, it is
commonly believed that they have the
ability to communicate telepathically so
that, for instarice, one is able to draw a
picture of what the other is thinking.
There have been innumerable claims that
a twin has shared the physical or mental
pain of the other — known as -‘crisis
telepathy’ even when they could not have
known it was happening- Monozygotic
twins — who share everything before birth
usually share everything after birth too :
the same tastes in food, music, sport or
politics... One might think that this could
be explained by the fact that parents often
give their new-born twins confusingly
similar names, continue to dress them
exactly alike until they are well int9 their
teens, and generally treat them in the
same way throughout their upbringing.
However, there are well-documented

RleaIk 198 9e° qgIg
‘cemale A°@¢’)(crisis telepathy) €QIm

F6aR1 (9 QoI 44-53) : G UYSRICY,
a¢ ¥e° 967 Jel g4 aaa @dl dIdE
999509 20 69eR UFERRY URIA 4
6291 280!

geeue 94 anqa QitinIg 624 21986 §28!
697169 69¢RIIN AN}, YAAR 6QMIAw
906Q *4QIQAI @Ee @EFcIR AGRAE
QIYER 69606967 STR 62IREB| 1OUIS
6Q7I9% §960 He8a 918Q 8 Qldel dagald
6291 QINIRR| 6QAIRT AUEQ JLICSAR ALY

6 6QIRRl G fFARYR 671G 9RQER @Al 9@
2QY 2ie U06eTd @aalgl FIgIea, Iadl
1Rl ASY 6@ 26a@ Acdl QI

QYIS 6QIAN, 60986a UMQA dIAE @
agl, 289 e @Al exlad @gel 4ed
QIGISRIAER 6TITIEE 62 RBHIQ| 6AATTD
QAR g, IS 624 QEr, AR 2Y @G W6l
QPR RVYIGP CIRIEIER AR QLIRS A
CHIRI Q_€9, 991, 6@IgRll 8 QAN
QD 62IaIM] 9aq Q6] 63AIFTA ©. 7.
(DNA) QRIS QILI6ReR @ 6QAINTA 9U9Y
QAR 6% 19° YRAl OREI4 QARG QIS
6Qlq A91906QIR_G4/Q @x1QIRAIER]

aiieInes 996 _aIFER ade U6eIe
QOQIAIR ¢ 992 298| @g AMAIREOIQ
09 AEeIAIR A 94 QIAIB| 46RE!

AedIea 6adlIdl [l

qEaIgca VIS S0ad @QAIT| ges, 1Ll
dlRMIAGRIES 419 Q 6Q719aQ
QINY6RIg CORNAYRIR (telepathically) RIQ
SRrg 621RQIER 2lI-264 FI2IR] O3] AU
Q2 AMPEY DQUARE GAUICAI UCKR QIS
Q@8 64 SIIRIAIER FITEQ 4118 B AR

-

QRN IEGR 6CIER I 6REEEIER AGREIR
FIFFIGE |12 A6RIFINETITR (Monozygotic)
QIZiel 6Q9A16e A9FE RQYLQ B 9QE6Q
f2l 099 Be6Q R4 FAAIZ| YOHE HIQIER
@l gela QIe, ade, 68K, ARG FrI
4RIOF AR QYRS FQ2E| K648 92l
cll 521 802l 60 1R 61T IR Q214 ARIAGR
Q4IQIQAIAS | AA-LUAIFIZIAIER AQIEIER
6Q7IG 29RIQ QAR QIF YFIARWER AAIR
RINGE 9R2IF| 6A0RR FAIISNIES 6AAIER
FEAIQ 6291 QI8 QAR CAIBIR, J6raaIB|
QARIAESS AIZIRIACE G 6291 VLIS QAT

)

QIR RARRTIRE FQAIRANI T8 AAQA!

—_—
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cases of identical twins brought up
separately from birth who nonetheless
made the same decisions and life
choices. In the 1980s, there was the
much-publicised case of the identical
twins Jim’ brothers. Born in Ohio, USA
in 1939, Jim Springer and Jim Lewis
were put up for adoption as babies and
raised by different couples, who happened
to give them the same first name. When
Jim -Springer. reconnected with his

similarities and c01n01dences was
discovered. Both men were six feet tall

they’d both had dogs named Toy and taken
family vacations on the same beach in
Florida. As young men, they’d both
married women named Linda, and then
divorced them. Their second wives were
both named Betty. They named their sons
James Alan and James Allan. They’d both
served as part-time sheriffs, enjoyed
home carpentry projects, and suffered
from severe headaches. In August every
year, thousands of twins descend on a
town in Ohio called Twinsburg, named
by identical twin brothérs nearly two
centuries ago. The Twins Days festival is
a three-day event consisting of talent
shows and look-alike contests that has
become one of the world’s largest
gatherings of twins. There have also been
other festivals in the UAE, Australia,
France and Nigeria. The latter country
has a large proportion ‘of twins in its

people in Nigeria produce twins, identical
|or fraternal, which is a much higher
incidence than anywhere else in the
world. This has been attributed to the
eating of yams, but the theory is disputed.
Biomedical researchers descend on these
events, regarding them as a precious
opportunity to conduct surveys and
experiments. Scientists study twins in
order to collect evidence for the age-old
nature versus nurture debate : how much
of their behaviour is hereditary and how

brother at age 39 in 1979, a string of other -

and weighed 180 pounds. Growing up, .

population : one in 22 births to the Yoruba '

QEiaidies AALER AMRI6S JYge 6LIRNAUL]
62600 AGEI QREIOR 62IRT| 6QLER QRN
ARG ARG Y ARFAIRE FQAUAIRYER AY
6Q7IATQ TY& 6091 6 F19R6ART QISR 621R
ge1§io 62IQ81 1980 46 A01Q AU o000
QGG ANQA1 QIR B (Jim) NG| 6291169
Q6L YSAUF AR (USA) @ 626 (Ohio)
0I6Q 1939 6@ RQILS @R Fe ForA 6
@0 Aed S8R Qe QeI geaIRe 626m G
6Q7IER 9Y QAFTA FIF1 6TRIYEM| 6AETEER
o6 e QIF QIR 39 QF6Q Q1 1979 AGRIER
606 RAIUINUMI 6ACGEIER_6AAINE WEEQ
QIR aleww@a 6 < 60
9Q° gig 180 JIRg G Zeal QY 696w,
629116992 _(Toy) Q1918 9@ 299 6AITgen
qQ° GIQQI%QLWQQGQ egn%él (Florida)
6RIQHEA TSI ANINYUSKI Y@ ALQISA
6Q¢6Q A€Ig (Linda) @QI2 Q26@ G 2I19AQ
Y 62IRAM 6INTT Q1A 1 26R 6968

(Betty)| 6Q€1162 6Q0IwQ JOUWOT QI 6204
MK (James Alan) 8 62¢d NI} (James

Allan) QY26R| 697168 AINAR aaq 2RAN
NS@° g2 90 ANT10 JRFEQ RILIRAER 9°
909 9eRI6a 2GS 6ARYER! geeye Qg
UoY_C1IA6Q IR 2919 Q2RI 326 (Ohio)
QA2Q6Q IRGE 6291Q Twinsburg’ @LIGRI Qe
N2l QA1 AIZIR VY’ AINAIY GRICR Qe
RINEQ QIS KAIGR The Twins days’ QISR
29’ GF0RYl RIIRACa F64908 QAI,
6QGIQILl GL6QIGol caadmIl 92! 96] FgQ
QAQL0 IR ACHRS QUEL gYAR| 26qgM2
(Australia), FIQ (Fran ance), gN@R (UAE) 9Q°
FIRERA2I_(Nigeria) d9e 6Q86Q 2x4QaQ
1 9IRS §41 @g 68691Q 6946Q AQOIQ 2R
QIR YL @ 6AALNT AR Q°HYI AQAISR
22Q 1 99 62@88| QIR6Rd o) QI

(Yoruba) O16Q 6®I6@ QIZIRI, AAQAT
XLGLMY ARFYEQ I Qe

Eleﬁ?
6QdlIdIZ] a%I iQIQIQ‘JIGQ 64 eudltelig (Yam)
HIRTIFIN 9F6 AGR Fg 92 6QF 6agAIEe
6218 | QUEAICAL @ Im (biomedical)
QeQARCIIER NAARNER AR G AAFNFA[I
AL IR %)..@ gedqial eémqemee
QRN QlﬁQGQ geaus Q°§QQ§?Q QIQQH
(the age-old nature) Q@RIfl RN AIRE IS
(nurture debate) G2l €69 AAAIG6Q
897w QIQ‘IQQIG Q"QIQQQQ \’IQ° c@Ee
3[R [T AR QA esalq 62931
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much conditioned by their environment:
what are people actually born with a_nd,.
What is caused by experience? Because
identical twins come from a single
fertilized egg that splits in two, and share
virtually the same genetic code, any
differences between them musf‘b_e due
to environmental factors. Studying the
differences between identical twins to
pinpoint the influence of environment,
and comparing identical twins with
fraternal ones to measure the role of
inheritance, has been crucial for
understanding the interplay of nature
and nurture in determining  our

personalities, behaviour and vulnerability
to disease.

44. When one twin is able to share the
physical or mental pain without

even being communicated, it is
known as

(A) intuition
(B) crisis telepathy
(C) vibration
(D) teleportation
45. What do"_:W“e' ’c':a“ﬂ‘i",'fhe_twins, who
share everything before birth?
(A) Monozygotic
(B) Fraternal
(C) Dizygotic
(D) Monoamniotic

46. Which festival has become one of
the world’s largest gathering of
twins?

(A) Ohio

(B) Twins

(C) The Twin Days
(D) Twinsburg

47. Which country has a
proportion of twin population?

large

65% CRIRFIGE GQE6R 674 RIA8 QI NG

saiq o _6reedl aiaiAy @692 AIsE
24IR83 @106 CAQA1 QIAIR] 49° TORNREY

(fertilized) 2QIQ, @9 S8l 2815 QRRIGER

309 62IQ _630I6R gl 68670R (genetic)
A6R6 AIRRE @R2IB| wIeT AU6Q AT
a5694 (GRS10. RIGE ALY 62ReN 691R
o618 @6l AIRG! IAqa1 QIRIRIE ANPER
FUAE QNICL6R 9°615Rfeela §AR
QdIaQIgIR ANl AIRiRls 486 AARIC!
QAEIL gAY, 998 IS AIRRAIRE SRR 3L,
QIJINRIA 99° 6919 691G IRTIR RIQEYER
AP SAQ 9@ 9RQad 9!

44. 6Q606Q6R G071 6QIFICAINER R6E
Qleiel Gea 9Ie1ae 6 A1ede aqel
0999 966q 9AgRI9 KGe! AR AN,
(A) 298

%ﬁma Awe
(C) e
(D) 66R6AIN69AR.

45. 699 Q1R 9gQSq ag gedic @dad
QIf @8 QRIAN?
O
8) QUQ ARAIL

(C) QIRRIAEANTR
(D) A6RIAINFEIR.
46. 629 QT QRN AR AR
- Qg6a ad 9ee?
(A) 626
(B) gRA
ISy T GRRa 66%
(D) 9RARA
47. 6RQ 6940 6RRA°HIIE AITRIAGT

29dle 23R?

(A) Nigeria ,

(B) UsA (B) Q.99.9

(C) France (C) €I
L (D) UAE (D) Q9 &
/151-C
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48. What is the reason of the high rate

of twins produced by the Yoruba
people?

(A) Culture
(B) Marital status
(C)- Eating habits
(D) Dance and music -
49, Biorvi{é‘di”ééimgdéﬁfists' ‘conduct
experiments in these events to
collect which evidence?
(A) Law and legal issues
(B) Nature vs nurture debate -
(C) Climate change
(D) LGBTQ+ rights
50. Identical Twins-who look the same
are different in which aspect?
(A) Clothes -
(B) Personalities
(C) Imaging systems
(D) Complexion

b o

51. How is the difference between the

two identical twins helpful to
..authors?

(A) Provide a story .
(B)V Provide a character
(C) Provide a plot twist
(D) Provide romance

- N

-~ X

52. Which difference in two identical

-.twins is determined by external
factors? =

(A) Hair colour
(B) Fingerprints
(C) Smile o
(D) Eyes

53. What percent of identical twins

develop their own secret language?
(A) Can’t say

(B) 30 percent
(C) 50 percent
(D) All of the above

48. 679 RIREQ QR ULRRA CRIRAIER
QIR AR 8 9987
(A) A°E
(B) 6dQi@e g
(Cpdiay aauQ
D) Q64 6 Qe

QUERICAPIN TCVRFER IR QIIEQ

~ AQIAIEAIN @R QILAAN gAIS QgL
@QLLEM ?

(A) 2199 @ LIRS AAQYI
@g@@ QRIF AIRRAIRE F6@
(C) QIe 9Qeae
(D) ARG 2R

50. Q9! FI2IR QAL 6QYIAIR AR
- NG° dQI0Ig FeF QaR?
(A) 6QI1RIAQ
(BY <489
(C) 2ALRQE uagl
(D) 6929 Qe

51. @AQ Q1. QiR QQG? e gl
QY eMSIRnIag ALY Q7

(A) 9§ 6RYS!

(B) 909994 «@aal
@Qw.@g‘a 6FIQ QURIRQ -
(D) 6QIAIg GaIe QB!

52. qqqm QIR Q¥ qeq QA 6QQ
Qligiey QIgy RIAS6QAIY IR ?
(A) 6Q9Qer
daog
(C) @9
(D) a1y

53. 6@6@ QO'&Q ¢OQ AAQAT Qi Faea

Qg@@,@qe@m *A2A1Z?
A) SEIRIT
(B) 30%

(D) QueIg Qag
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Direction (Q. Nos. 5
. + 94-89) : Read th
following passage to answer the questione.

Ecosystems provide people with a variety
of goodg and services, food, clean water
cleap air, flood control, soil stabilization,
poll}nation, climate regulation, spirituai
fulfllm.ent and aesthetic enjoyment, to
hame just a few. Most of these benefits
are either irreplaceable or the technology
necessary to replace them is prohibitively
expensive. For example, potable
freshwater can be provided by
desalinating sea water, but only at great
cost.

The rapidly expanding human population
has greatly modified the earth’s
ecosystem to meet their increased
requirements of some of the goods and
services, particularly food, freshwater,
timber, fibre, and fuel. These
modifications have contributed
substantially to human well-being and
economic development. The benefits have
not been equally distributed. Some people
have actually been harmed by these
changes. Moreover, -short-term increases
in some ecosystems’~goods and services
have come at the cost of long-term
degradation of others. For example, efforts
to increase the production of food and fibre
have decreased the ability of some
ecosystems to. provide clean water,
regulate flooding and support biodiversity.

54. With reference to the passage,
consider the following statements :
() It is imperative to modify the
earth’s ecosystem for the well-

being of mankind.

(i) Technology can never replace
all the goods and services

provided -by-ecosystems.
Which of the statements given
above is/are correct?
() Only ()
(B) Only (i)
(C) Both (i) and (it) }
(D) Neither (i) nor (iV

Geaaq) (g QeI 54-59) : FARYS UFSRY
AR Qi ggeeaageeeag |
689AER (Ecosystems) SRIRAIRE AIal I63

geIa 294 8 629, g0y, §4@ 8%, I8 9%
319y 5AR4, 780l §ao!, AT A6, FRIIY
Fafeeqd, age adgdel Ne°
cdledicaiiq PR QEERIS B4 646D
ceREN| 9ggRIa QUICLAS! AaIQ NgeR 99
6Q66I5Q YERIAIgI ¥RAg ITRYLe AGR1L
2291 NgER 9IRS QI 4@ Q60T ESERISRIT
P0QIal 21208 999 A7Q 8Fg ~ 8681IGRA
QIR0 99 6QIGIRGES, Fig T2 ERAIGIER
oQiea|l

Qe eeasil 38 8 98¢ 2Ueaias
Qe 92y 0 6Q9T, F648aa 9iel, 48 89, @10,

TI999, S16ed @eYd Jad gie gge1a
Qef Qigy 6 2eeFde 996 68g6a I¥
0eaa 2IYgazI 2918 QER| I8 gTaRgee
AAIGaIEe 9I96a Q96 @QUQIR QIF| 9@
AG98R QA JQTea 6@66R tmie ATYY
62188 | 829g AMAIewa 1d J21E@ a99a
Ry IRNNER 6@EeR 6Eendea Jg-AaIR

QeY 8 6291 QUAGH 62198 YRIFAE Y9
SN 6l & el ' QG
39 oR 62168, 9G4 GARAGRA ,@@|
@ QUG KAIR 6QQBI
'§4. 2g6ge 214I6R F6QIg ASRIGER BIgUIR
Qog!

) 799988 an IR gaMa 6§
q8e adeas aadalidyl

(i) 6@Q A4 QA AR AALIKXYS!
Q94 6 6221 IR 6T6RIERNIT IR
QRQIRe QI

F6QIg 699 189Y/a8Ngee OR?

(A) 699R (i

(B) 69Q@ (i)

C) @99 (i) Ne° (i)

D

f) @9l (i) 9O gee
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55. According to the passage, which of
the following can be taken as the
main reason for the modification of
earth’s system?

(A) Technology
(B) Increasing population

(C) Léck of an integrated approach

(D) All of the above

56. Which of the following can be

considered as the most suitable
title for the passage?

(A) Modification of our ecosystem
(B) Our natural resources

(C) Harmful effect-of. increasé in
human population -

(D) Human - interference in our
ecosystem

57. Expanding human population has an

adverse effect on

(i) spiritual fulfilment

(i) availability
freshwater

of potable

(iii) employment
(iv) biodiversity

Which of the statements given
above are correct?

(A) (i), (i), (iii) only
(B) (i), (iii), (iv) only
(C) (ii) and (iv) only

(D) All of the above |

57.

55. 2Q6gQ AGAEQ T67I9 6RuCY 6Fe
86 09QERA ol K18 AR FIQ

-—_—

@algIQ AL ?

@ 696QI6MIS
(}q/@ég @RI

(C) L°BC ULE[AQ AKX
(D) QU6 499

| Q6019 6RR0 APEREEA RWYS S99
62IRAIRS?

//alﬂ c8e agRa Jaeee
(B) gINQ QIQEe Afe
(C) @RA°¢lYl QEQ QO g

(D) 2 689 FAGREA IR 2g6Td

QUEQ Y FEA°WIQ 39S
delQ 6QyQlq feql

ol ) UAGe. aQqder.. ..

M@ dINg IR RANES

(iti) od FeBIR

(i)€Fe SRS

QUA AYE 7% ABNGRR OR?
«><(A) (), (@), (i) 6QeR. .. . .,

(B) (i), (iii)-(iv) 6999

Miv) (S

\ (D) @€sqig aag -
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58. The passa i ;
p 8¢ mentions that ‘some

people have actually been harmed

by these Chan ’
es’. P s
towands g It indicates

(A) inequitable distribution of
benefits

(B) decrease in the ability of some
€cosystems to provide clean
water, regulate flooding and
support biodiversity

(C) Both (A) and (B)

(D) Neither (A) nor (B)

59. Which of the following is correct in
the context of the passage?

(A) The rapid expansion of
- population has adversely
affected some people

(B) Sufficient efforts have not been
made to increase the
production of food and fibre

(C) In short term, some people may
be harmed, but in long term,
everyone will benefit from
modifications in earth’s
ecosystem

(D) None of the above

60. If @ll Ps are Qs and some Qs are

true? / //

“(A) (All Ps arg@/
o s

: ” W%p’
Some Ps are RSy

(C) No Ps are Rs ™

(D) None of the above
e

Rs, which of the following‘ inust be ¢ %\
N

o
Y

58, UERIA qRIAIGE 63 4 w|
dqbea 6R60e eMIa B9 2IR8%’|
N2l 9o1e @K6Q 64
(A) QTRYPRQ 2Q Q9
] 6Q60R 6026AZ0 AR o cAIdld,

Yy Gadie 294, 68Q FGuQI
Q°QREER AN *EQ

(C) @& (A) 9&° (B)

(D) (A) @71 (B) 69163& g6<

59.?igege odel agaIal f6qIg 68T OR7

(A) 8g 99l Q8 €Q6ER EMIAG
30916 QISR JNTE 448

(B) §I9Y 6 TINQQ 2QYeS Q& AR
Q628 AF *AUAIRRIE

(CY2e1 63278R J0QEN6R 6Q60R
6mMIR Y8 HER6q S0gg 62IRAI9g,
qig o1d fadea geeieq 4Ie
age

(D) 48q 663G gew

60. 4G AANG Ps 6298 Qs ¥e° AAG Qs
6288 Rs, 606° H67IQ 6946 OR?
=y

(B) 69609 Ps 6298 Rs
(C) 6416@ Ps, Rs Q6%

(D) qaq 63T 6L

. (A) QAg Ps 6228 Rs o <0
(9]
t LOO é" g/0)<
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61.

62.

63.

64.

How many pairs of letters are there

in the word “CASTRAPHONE” which
have as many letters between them
in the word as in the alphabet?

(A) 3

(B) 4

(C) 5

(D) 6

In which year was Facebook
launched?

(A) 1972

(B) 1980

(C) 1999

(D) 2004

‘What is the meaning of the word
‘Jargon’?

(A) A specialized language of a
particular group of people

(B) Techniques of good writing

(C) A special article wriften by an
editor

(D) None of the above

An Informal Gathering occurs when

a group of people get to in a
asual, relaxed man . Which
situation given below is the- best
Y
example of an Informal Gathering?
e

(A) Debating club meets on the first
Sunday morning of every month

(B) After finding out about his

61.

62.

63.

64.

“CASTRAPHONE” 4269 696018 153
goe 28Q 28, QIRAAUEA FAIRIe
€UT0 2190 U2 dRFI6a @ 696RT 2aQ
287

(A) 3

(B) 4

(C) 5

(D) 6

69@ @d 6A9R (Facebook) 2IQf
62IREAMI ?
(A) 1972
(B) 1980
(C) 1999
(D) 2004

Jargon’ 499 28 @& 7

(A) 9@ FRY FR6aIFIQ 6AITY o]
QU

(B) @¢ Qe 6N8q

(C) AMaE QI AYL 9@ YOF RS

(D) aQ eNEAT Q6&

60606967 691G eda cnielaiade

d9996a 910 28, 6A60696R 1@
A6FASIRR ARIEIE A6T | Feglig Aag

g% ,
12515 GE%‘(\']E‘_!Q @ @‘g:% QINILAS ?

(A) gOAIA AT 6R9IQ ARIRER F6aG"
{99 Qe

salary raise, Jay and a few (B) @4l Q@;GQIQ&QI Q18 29 QI

cglleagues go out for a quick @8 ALRIT AT 2AFARI8 Qb

dinner after work 611@ Ql g calae QQE!Q QIQIQ Al
(C) Meena sends out 10 invitations Q) @ 841 ag ‘QUIge -

for a bachelorette party she is () @% QT ai

giving for her elder sister GQ@M@QQH@,@
(D) Whenever she eats at a ol

Chinese res.taura'nt, Roop (D) €9 6216@/6%@{,{ GQ%@IQGQ

seems to run into Dibya qliNg, _gp Yl @Q@Q_uig‘i’q JAQ A6sl
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Direction (Q. Nos. 65-69) :

following information to answe
questions :

Study the | Gegeiql (g9 eyl 65-69) : &9 497
rthe given | 5o00a @@ 949 Qe G2

(@) Eight persons E, F, G, H, I, J, K and @) 98 98 96 @8 661G 6AIQ 6T
3 B H Y, 222

L are seated around a square table- QIQQ6e E, F, G,' H, I J, K@ L0
two o h side. PR -
n each side g adgdl

(b) There are three lady members and — o 3 oo
they are not seated next to each (b) 6Q016Q &4 94 AR A2l UFS 9

BLier, 6QAI6R 698 @I2] AIF60 QARI2IBI

‘c J is between L and F. - o
(o an (c) LQ° F £1Q6Q J @4gl

(d) Gis between I and F. _ -
(d) 149Q° FAG6Q G Qdgl
(e) H, a lady member, is second to the

left of J. (e)(H 6208) @64 78 deyl, 64 J Q|

- QIAdes geta gI9sa 9dg!

() F, a male meniber, is seated
opposite to E, a lady member.
i B K

() F 6298 964 9Q8 29Qy, 64 A2RI|
(g) There is a lady member between F QAeQYl E @ 29916 @eex /78|
and L

(g) FBIFIER 964 7@ Aeqyl Q8|
65 o among the following is_seated _
between E and H?

65. WIAT FU6Q @9 E9Q° H F1IEQ 998 ?

% )\
A) 1 (A) I é\%f\ | F‘@f\ .
(B) J | | (B) J (9 ‘ A
/
(C) F (C) F t’//
' - :
(D) 7 @M 4
66. Who among the following is to the .
— immediate Teft of F? | 66. Fa gal Qnaigeq @ o
——— -
(A) G -' (A) G
B) J B
| (©) I &)
| px —
/151-C 2 [P.T.O.
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67. How many people are seated
between K and F?

(A) One
(B) Two

}Y’fhree

(D) Cannot be determined

68. Who among the following are the
three lady members?

(A) E, Hand J
(B) E, Gand J

(C) G, Hand J

) H, Eand G

)

69. Which of the following is true about

ety

(Ay”J'is a male member

(B) J is a female member

(C) Gender of J cannot be
determined

(D) Position of J cannot be
determined

67. K9 F ORIGQ 696006 €837 |
(A) 99
(B) 4@
(C) OF
(D) Q189 AAS Q6L

68. TIPS FRIEQ 6RATIER GF @
aeQyl?

)
5

(A) E, H9Q° J
(B) E, G4Q° J
(C) G, HYIS" J
(D) H, EXQ°* G
69. J ANR6Q 69U AGY?
(A) J 62@8 @64 QY ey

(B) J 62Q8 @64 Q2@ Ay

(C) J @ Aer «1diel aae gee

/

/151-C
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70. Which of the following clearly
defines the function of mass media?

(A) Providing information
(B) Work as a responsible resource
(C) Providing a political forum

(D) All of the above

71. T, Sand R aré three brothers. T's

son Q is married to K and they have
one child Rahul blessed to them. M
the son of S, is married to H and
this couple is blessed with a
daughter Madhvi. R has a daughter
N who is married to P. This couple
has one daughter Karuna born to
them. How is Madhvi related to S?

(A) Daughter
(B) Niece

(C) Granddaughter

(D) None of the above

5 pasitan wis ClUEE e e DY
om;m:ﬁw
thg N en the post office was
100 mi away from him, he turned to
the left and walked 50 m to deliver
the last letter at CGO complex an.d
moved another 50 m to meet his
friend. Then he turned towards
North and walked 100 m. How far
is he from the post office?

70.

71.

- T2,

BeqIg g 699e GanRIA Jaldd
9060 ] 9oRI G497

(A) 99QI 9919
(B) @1899d A% 9169 AITIRER

(C) QIRERER 6T 6QIFNRANM
(m/agealg Qg

T, S$YQ° R6208% 66 anl T Qa Q
aqi2 988 K § 98° 62AIRE 665N
dal QIgRl S @ 98 M, HQ 8912 @38
4G° 12 QHGea QY 6208 ARSI RQ
3o I, 54 PQ QI2 @AR| 1§ 6T
6aIG B2 aQdll FINGT S ! ANFER
@8 6297

(A) @4l
(B) Q2IQ/RQUET
(C) 2GRS

(D) Qg 6w16de geL

@64 6QIRNIR 6AIRATAG 6TFQ M|
6Q1gadq ol A RITER AR §66Q
29ge amll 6019aT enia 100 m 9@
ARIERER 69 QNATY BRI 9° 6619
80 CGO complex 68 69QI9IR 50 m
QIRAIl Q8 6l AFG 6RTQI AR AIFH
50 m QIARI| GI'U6Q 64 QAR LI 621
100 m QIAMI| 61 6QIFATY AIGIQ I6Q
6REQ QR6Q &Z?

(A) 150 m
(A) 150'm
(B) 100 m R
(C) 50 m (C)' 50 m |
| D) 75m (D) 75 m ,
/151-C = [P.T.0.
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73. Three individuals have to be
selected from a group of 6 people.
How many different combinations
are possible?

(A) 120
(B) 60
(C) 20 . -

(D) 10

74. John needs to choose between two
job offers. Offer A has higher salary
but is located in a city with a high .
cost of living. Offer' B has a lower
salary but is situated in a town with
a lower cost of living. Which job
_ offer should John choose?

(A) Offer A
(B) Offer B

(C) None

(D) Cannot be determined

75/ Arrange these words in alphabetical
c

d
omes las‘ .
: S
()—Abandon—t

'

(iv) A:qg‘u.it \«V\{\
r-cisve V7
(A) Actuate S

(W

\»

(C) Acquit AT

75. AVAKAER (R°QUR) 9995 AeIQ 1e°

73. 6015 6 @dal gag °F @6 Qq@f”‘i“?
RAQIQ 62R1 ¥AIRS FRIEA 66T Wi
@8 @@ (combination) AAQ 627

(A) 120
(B) 60
(C) 20
(D) 10

74. QUG @Q ATQ (job offers) ARIG KRQ
(John) 69115 QIZQIQ G XY A Q
RIF QAN QI 92l IS ML AICAN
QAIA6R QYS! ATFQ B Q 2F @Q9l,
Alg 92l 9@ ¥ 9 A6AY ALAER

29861 8R (John) 62 61 ATGT'Y AR -
XA ?

(A) 2T A
' (B) ueq B
(C) 6T Q6L

(D) *1891 AAe Qed

QAQICANER AIYAR! 16T QERS *ag|
(i) Abandon |

(i) Actuate

(iii) Accumulate

(iv) Acquit

(v) Achieve

(A) Actuate

(B) Accumulate

(C) Acquit

(D) Achieve
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76. Three

f
Of the following four words

—

are alike in g ceptas ! 76. 77 908 SI6AE 49 (QaIaT) FUIGESTT
is di ; N way and one . o |
s different. Pick the odd one out. 6208 4@ gRIoal A% Joe 900 Qlag
(A) Hendecagon (A) Hendecagon
B) Hexagon
\ (B) Hexagon (5] Hemsgn
‘ .
\ (C) Heptagon’
(C) Heptagon |
(D) Pentagon
(P)/Pentagon
77. O34 §6 QI0QIg QI2GE IL° 64 62I6TM
77. Manish is going on a vacation and Q8 @99l 64 6a1d c2icem I8
needs to bOOl.C a hotel. He shortlists Ggﬂé@gﬂ@}l, QENG q@ul qeglg qQ°
3 hotels and is now comparing them ~ T
on the basis of cost, facilities @ﬂWIQ
available and proximity to tourist 6Q Q@7 ARl AFY R4 U968d
sites. Which step of decision ra eIy qug Qe
making is Manish performing? GliigR, 91y '
Qqg QI8!
(A) Generating the alternatives (A) Sag Cle
, _ T (B) 62160R 997 @A 6LIGYE!
(B) Defining the selection criteria ) :
: , (C) SRga MUY FQR|
(C) Evaluating the alternatives
o (D) fg8Q AN 2RI
(D) Reviewing the decision -
- 78. 1780 132I6Q, VINER @Y QAN Lo
78. In the year 1780, who had ed
the first printed newspaper named ¢AQ RIGF Dl 6T EQGQQ (Bengal
as Bengal Gazette, in India? Gazette) 84| 2R QQEYEN?
(A) Annie Besant (A) 2 6QdIs
(B) James Augustus Hicky (B) 6891 209K TR
(C) Richard Stafford Cripps (C) QOIS QITEXIE FAQ
(D) AO Hume (D) 96 ®ya
/151-C 29
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9,) Identify the figure that completes

80.

the pattern :

(X)

(i) (l/

(iii) (iv)

(A) @
(C) (@)
(D) (iv)

Which behavior is important for
effective listening in a
communication exchange?

(A) Interrupting frequently to
clarify points

(B) Maintaining consistent eye
contact

(C) Taking detailed notes during
the conversation

(D) Nodding frequently to show
agreement

—

/151-C

79. 089%Q 996 9 A°QERFIFYTY Y8 Al

?
(X)
(i) | (ii)
(iii) ()
(A) (@)
(B) (i)
(C) (i)
(D) (iv)

80. TIRGQ Q¢ CAIGIEAIT TAAER COF
"’_'__'_\\‘_
21998 2GS JQaas ?

(4) @Igdiqd Se99eqe 98 eaqaid
K QIRRIR UIAISIERS aFedel

(B) of saiGIsaIoR ooiq ag4 gl

(Q/Q/salaﬁ?a@ A a°qg Tgean
9ge *Qel

(D) RELIAN eQiael Qi QUARUQ ARG
d9I? Q)

30
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